# ON APPROXIMATION PROPERTIES OF STANCU VARIANT $\lambda$-SZÁSZ-MIRAKJAN-DURRMEYER OPERATORS 

Reşat Aslan* and Laxmi Rathour


#### Abstract

In the present paper, we aim to obtain several approximation properties of Stancu form Szász-Mirakjan-Durrmeyer operators based on Bézier basis functions with shape parameter $\lambda \in[-1,1]$. We estimate some auxiliary results such as moments and central moments. Then, we obtain the order of convergence in terms of the Lipschitz-type class functions and Peetre's $K$-functional. Further, we prove weighted approximation theorem and also Voronovskaya-type asymptotic theorem. Finally, to see the accuracy and effectiveness of discussed operators, we present comparison of the convergence of constructed operators to certain functions with some graphical illustrations under certain parameters.


## 1. Introduction

In [26] Mirakjan and Szász [44] proposed and studied the following sequence of linear positive operators, for any $m \in \mathbb{N}$ and for the bounded functions $\mu(z)$ in $C[0, \infty)$

$$
\begin{equation*}
S_{m}(\mu ; z)=\sum_{j=0}^{\infty} s_{m, j}(z) \mu\left(\frac{j}{m}\right), \tag{1}
\end{equation*}
$$

where $z \geq 0$ and $s_{m, j}(z)=e^{-m z} \frac{(m z)^{j}}{j!}$.
A Durrmeyer type integral modification of operators (1) is established by Mazhar and Totik [25] as below:

$$
\begin{equation*}
D_{m}(\mu ; z)=m \sum_{j=0}^{\infty} s_{m, j}(z) \int_{0}^{\infty} s_{m, j}(z) \mu(t) d t, z \in[0, \infty) \tag{2}
\end{equation*}
$$

Recently, several approximation properties such as uniform approximation, weighted approximations, simultaneous approximation and Voronovskaja type result of operators (1) and (2) and their modifications are considered. We refer for the readers to $[7,8,13,19-21,27-29,31]$.

Bézier curves with shape parameters are one of the prominent research areas for modeling in computer graphics (CG) and computer-aided geometric design (CAGD).

[^0]Due to their computational simplicity and stability, the Bézier curves have various applications such as airframe design, numerical solution of partial differential equations, font design, networks, animation, robotics and so on. A choice of shape parameter is significant, wherefore Bézier curves and surfaces are characterized with their control meshes. One can has some applications in (CAGD) (see: [17, 22, 32, 40]).

Very recently, Ye et al. [45] presented the Bézier basis with shape parameter $\lambda \in[-1,1]$. In 2018, Cai et al. [14] introduced $\lambda$-Bernstein operators and studied various approximation theorems, uniform convergence, local approximation and Voronovskaya-type asymptotic. Acu et al. [1] discussed some approximation properties such as order of convergence by Ditzian-Totik modulus of smoothness and Voronovskaya and Grüss-Voronovskaya-type results. On the other hand, Özger [35] proposed a new type of Schurer operators with Bézier-Schurer basis and investigated several weighted A-statistical convergence results of these operators.

In 2019, Qi et al. [38] introduced the following Szász-Mirakjan operators with shape parameter $\lambda \in[-1,1]$

$$
\begin{equation*}
S_{m, \lambda}(\mu ; z)=\sum_{j=0}^{\infty} \widetilde{s}_{m, j}(\lambda ; z) \mu\left(\frac{j}{m}\right), \tag{3}
\end{equation*}
$$

where Szász-Mirakjan bases functions $\widetilde{s}_{m, j}(\lambda ; z)$ with shape parameter $\lambda \in[-1,1]$ given by

$$
\begin{align*}
\widetilde{s}_{m, 0}(\lambda ; z) & =s_{m, 0}(z)-\frac{\lambda}{m+1} s_{m+1,1}(z) ; \\
\widetilde{s}_{m, i}(\lambda ; z) & =s_{m, i}(z)+\lambda\left(\frac{m-2 i+1}{m^{2}-1} s_{m+1, i}(z)\right. \\
& \left.-\frac{m-2 i-1}{m^{2}-1} s_{m+1, i+1}(z)\right)(i=1,2, \ldots, \infty, z \in[0, \infty)) . \tag{4}
\end{align*}
$$

Motivated by operators (3), Aslan [6] constructed following Szász-Mirakjan-Durrmeyer operators with shape parameter $\lambda \in[-1,1]$ :

$$
\begin{equation*}
D_{m, \lambda}(\mu ; z)=m \sum_{j=0}^{\infty} \widetilde{s}_{m, j}(\lambda ; z) \int_{0}^{\infty} s_{m, j}(t) \mu(t) d t, \quad z \in[0, \infty), \tag{5}
\end{equation*}
$$

where $\widetilde{s}_{m, j}(\lambda ; y)(j=0,1, . . \infty)$ defined in (4) and $\lambda \in[-1,1]$.
He estimated the rate of convergence in terms of the usual modulus of continuity and Peetre's $K$-functional and proved a uniform convergence theorem on weighted spaces and derived a Voronovskaya type asymptotic theorem for these operators.

One may see the recent works that include linear positive operators which have the shape parameter $\lambda:[2,4,5,9-12,15,24,30,33,34,36,37,39,41,42]$.

In the present work, we construct a Stancu [43] type Szász-Mirakjan-Durrmeyer operators based on shape parameter $\lambda \in[-1,1]$ :

$$
\begin{equation*}
D_{m, \lambda}^{\alpha, \beta}(\mu ; z)=m \sum_{j=0}^{\infty} \widetilde{s}_{m, j}(\lambda ; z) \int_{0}^{\infty} s_{m, j}(t) \mu\left(\frac{m t+\alpha}{m+\beta}\right) d t \tag{6}
\end{equation*}
$$

where $z \in[0, \infty), \mu(z) \in C[0, \infty), \alpha$ and $\beta$ are non-negative parameters verifing the conditions $0 \leq \alpha \leq \beta$. Note that for $\alpha=\beta=0$, the operators (6) reduce to (5) and with $\lambda=\alpha=\beta=0$, they reduce to operators (2).

The focus of this paper is organized as follows: In Sect. 2, we calculate some preliminaries results such as moments and central moments. In Sect. 3, we estimate the order of convergence in terms of the functions belong to Lipschitz-type class and Peetre's $K$-functional. In Sect. 4, we obtain a result concerning the weighted approximation. In Sect. 5, we investigate a Voronovskaya-type asymptotic theorem. Finally, to see the accuracy and effectiveness of proposed operators, we show the comparison of the convergence of operators (6) to the certain functions with some illustrations for different values of $m, \alpha, \beta$ and $\lambda$.

## 2. Preliminaries results

Lemma 2.1. [38]. Let the operators $S_{m, \lambda}(\mu ; z)$ be defined by (3). Then, we get the following expressions:

$$
\begin{aligned}
S_{m, \lambda}(1 ; z) & =1, \\
S_{m, \lambda}(t ; z) & =z+\left[\frac{1-e^{-(m+1) z}-2 z}{m(m-1)}\right] \lambda, \\
S_{m, \lambda}\left(t^{2} ; z\right) & =z^{2}+\frac{z}{m}+\left[\frac{2 z+e^{-(m+1) z}-1-4(m+1) z^{2}}{m^{2}(m-1)}\right] \lambda, \\
S_{m, \lambda}\left(t^{3} ; z\right) & =z^{3}+\frac{3 z^{2}}{m}+\frac{z}{m^{2}}+\left[\frac{1-e^{-(m+1) z}-2 z}{m^{3}(m-1)}\right. \\
& \left.+\frac{3(m-3)(m+1) z^{2}-6(m+1) z^{3}}{m^{3}(m-1)}\right] \lambda, \\
S_{m, \lambda}\left(t^{4} ; z\right) & =z^{4}+\frac{6 z^{3}}{m}+\frac{7 z^{2}}{m^{2}}+\frac{z}{m^{3}}+\left[\frac{e^{-(m+1) z}-1+2 m z}{m^{4}(m-1)}\right. \\
& \left.+\frac{2(3 m-11)(m+1) z^{2}+4(m-8)(m+1)^{2} z^{3}-8(m+1)^{3} z^{4}}{m^{4}(m-1)}\right] \lambda .
\end{aligned}
$$

Lemma 2.2. [6]. For the operators defined by (5), we get the following moments

$$
\begin{aligned}
D_{m, \lambda}(1 ; z) & =1, \\
D_{m, \lambda}(t ; z) & =z+\frac{1}{m}+\left[\frac{1-e^{-(m+1) z}-2 z}{m(m-1)}\right] \lambda, \\
D_{m, \lambda}\left(t^{2} ; z\right) & =z^{2}+\frac{4 z}{m}+\frac{2}{m^{2}}+\left[\frac{1-e^{-(m+1) z}-2 z-2(m+1) z^{2}}{m^{2}(m-1)}\right] 2 \lambda, \\
D_{m, \lambda}\left(t^{3} ; z\right) & =z^{3}+\frac{9 z^{2}}{m}+\frac{18 z}{m^{2}}+\frac{6}{m^{3}} \\
& +\left[\frac{2-2 e^{-(m+1) z}-4 z+(m-11)(m+1) z^{2}-2(m+1) z^{3}}{m^{3}(m-1)}\right] 3 \lambda,
\end{aligned}
$$

$$
\begin{align*}
D_{m, \lambda}\left(t^{4} ; z\right) & =z^{4}+\frac{16 z^{3}}{m}+\frac{72 z^{2}}{m^{2}}+\frac{96 z}{m^{3}}+\frac{24}{m^{4}} \\
& +\left[\frac{24-24 e^{-(m+1) z}+z(m-25)+18(m-7)(m+1) z^{2}}{m^{4}(m-1)}\right. \\
& \left.-\frac{2\left(m^{2}-7 m-23\right)(m+1) z^{3}+4(m+1)^{3} z^{4}}{m^{4}(m-1)}\right] 2 \lambda .
\end{align*}
$$

Lemma 2.3. For $n=1,2, \ldots$, we have following relation:

$$
D_{m, \lambda}^{\alpha, \beta}\left(t^{n} ; z\right)=\sum_{k=0}^{n}\binom{n}{k} \frac{m^{k} \alpha^{n-k}}{(m+\beta)^{n}} D_{m, \lambda}\left(t^{k} ; z\right)
$$

where $D_{m, \lambda}(\mu ; z)$ and $D_{m, \lambda}^{\alpha, \beta}(\mu ; z)$ are defined by (5) and (6), respectively.
Proof. In view of (5) and (6), it follows

$$
\begin{aligned}
D_{m, \lambda}^{\alpha, \beta}\left(t^{n} ; z\right) & =m \sum_{j=0}^{\infty} \widetilde{s}_{m, j}(\lambda ; z) \int_{0}^{\infty} s_{m, j}(t) \mu\left(\frac{m t+\alpha}{m+\beta}\right)^{n} d t \\
& =m \sum_{j=0}^{\infty} \widetilde{s}_{m, j}(\lambda ; z) \int_{0}^{\infty} s_{m, j}(t)\left(\sum_{k=0}^{n}\binom{n}{k} \frac{m^{k} \alpha^{n-k}}{(m+\beta)^{n}} t^{k}\right) d t \\
& =\sum_{k=0}^{n}\binom{n}{k} \frac{m^{k} \alpha^{n-k}}{(m+\beta)^{n}}\left(m \sum_{j=0}^{\infty} \widetilde{s}_{m, j}(\lambda ; z) \int_{0}^{\infty} s_{m, j}(t) t^{k} d t\right) \\
& =\sum_{k=0}^{n}\binom{n}{k} \frac{m^{k} \alpha^{n-k}}{(m+\beta)^{n}} D_{m, \lambda}\left(t^{k} ; z\right) .
\end{aligned}
$$

Lemma 2.4. Let $e_{u}(t)=t^{u}, \quad t=0,1,2,3,4$. Then, we obtain

$$
\begin{align*}
D_{m, \lambda}^{\alpha, \beta}\left(e_{0} ; z\right) & =1  \tag{7}\\
D_{m, \lambda}^{\alpha, \beta}\left(e_{1} ; z\right) & =\frac{m}{m+\beta} z+\frac{\alpha+1}{m+\beta}+\left[\frac{1-e^{-(m+1) z}-2 z}{(m+\beta)(m-1)}\right] \lambda  \tag{8}\\
D_{m, \lambda}^{\alpha, \beta}\left(e_{2} ; z\right) & =\frac{m^{2}}{(m+\beta)^{2}} z^{2}+\frac{2 m(\alpha+2)}{(m+\beta)^{2}} z+\frac{(\alpha+1)^{2}+1}{(m+\beta)^{2}} \\
& +\left[\frac{(\alpha+1)\left(1-e^{-(m+1) z}-2 z\right)-2(m+1) z^{2}}{(m+\beta)^{2}(m-1)}\right] 2 \lambda,  \tag{9}\\
D_{m, \lambda}^{\alpha, \beta}\left(e_{3} ; z\right) & =\frac{m^{3}}{(m+\beta)^{3}} z^{3}+\frac{3(\alpha+3) m^{2}}{(m+\beta)^{3}} z^{2}+\frac{3\left((\alpha+2)^{2}+2\right) m}{(m+\beta)^{3}} z \\
& +\frac{3(\alpha+1)^{2}}{(m+\beta)^{3}}+\left[\frac{\left(\alpha^{2}+2 \alpha-2\right)\left(1-e^{-(m+1) z}-2 z\right)}{(m+\beta)^{3}(m-1)}\right. \\
& \left.+\frac{(m-11-4 \alpha)(m+1) z^{2}-2(m+1) z^{3}}{(m+\beta)^{3}(m-1)}\right] 3 \lambda, \tag{10}
\end{align*}
$$

$$
\begin{align*}
D_{m, \lambda}^{\alpha, \beta}\left(e_{4} ; z\right) & =\frac{m^{4}}{(m+\beta)^{4}} z^{4}+\frac{4(\alpha+4) m^{3}}{(m+\beta)^{4}} z^{3}+\frac{6\left(\alpha^{2}+6 \alpha+12\right) m^{2}}{(m+\beta)^{4}} z^{2} \\
& +\frac{4\left(\alpha^{3}+6 \alpha^{2}+18 \alpha+24\right) m}{(m+\beta)^{4}} z+\frac{(\alpha+1)^{4}+6 \alpha^{2}+20 \alpha+23}{(m+\beta)^{4}} \\
& +\left[\frac{\left(\left(\alpha^{2}-6\right)(2 \alpha+6)+12\right)\left(1-e^{-(m+1) z)+}\right.}{(m+\beta)^{4}(m-1)}\right. \\
& +\frac{\left(18(m-7)+6 \alpha(m-11)-12 \alpha^{2}\right)(m+1) z^{2}}{(m+\beta)^{4}(m-1)} \\
& \left.-\frac{2\left(m^{2}-7 m-23+6 \alpha\right)(m+1) z^{3}+4(m+1)^{3} z^{4}}{(m+\beta)^{4}(m-1)}\right] 2 \lambda .
\end{align*}
$$

Proof. For $n=2$ and using Lemma 2.2, we obtain

$$
\begin{aligned}
D_{m, \lambda}^{\alpha, \beta}\left(e_{2} ; z\right) & =\sum_{k=0}^{2}\binom{2}{k} \frac{m^{k} \alpha^{2-k}}{(m+\beta)^{2}} D_{m, \lambda}\left(t^{k} ; z\right) \\
& =\frac{1}{(m+\beta)^{2}}\left[\alpha^{2} D_{m, \lambda}(1 ; z)+2 m \alpha D_{m, \lambda}(t ; z)+m^{2} D_{m, \lambda}\left(t^{2} ; z\right)\right] \\
& =\frac{1}{(m+\beta)^{2}}\left[\alpha^{2}+2 m \alpha z+2 \alpha+\left\{\frac{1-e^{-(m+1) z}-2 z}{m-1}\right\} 2 \alpha \lambda\right. \\
& \left.+m^{2} z^{2}+4 m z+2+\left\{\frac{1-e^{-(m+1) z}-2 z-2(m+1) z^{2}}{m-1}\right\} 2 \lambda\right] \\
& =\frac{m^{2}}{(m+\beta)^{2}} z^{2}+\frac{2 m(\alpha+2)}{(m+\beta)^{2}} z+\frac{(\alpha+1)^{2}+1}{(m+\beta)^{2}} \\
& +\left[\frac{(\alpha+1)\left(1-e^{-(m+1) z}-2 z\right)-2(m+1) z^{2}}{(m+\beta)^{2}(m-1)}\right] 2 \lambda .
\end{aligned}
$$

Other expressions can be calculated by similar methods, thus we omitted details.

Lemma 2.5. Let $z \in[0, \infty), \lambda \in[-1,1]$ and $m>1$. Then, we get the following central moments:

$$
\begin{aligned}
\text { (i) } D_{m, \lambda}^{\alpha, \beta}(t-z ; z) & =\frac{\alpha+1}{m+\beta}-\frac{\beta}{m+\beta} z+\left[\frac{1-e^{-(m+1) z}-2 z}{(m+\beta)(m-1)}\right] \lambda \\
& \leq \frac{(\alpha+1) m+e^{-(m+1) z}+2 z}{(m+\beta)(m-1)}:=\Phi_{m}^{\alpha, \beta}(z), \\
\text { (ii) } D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{2} ; z\right) & \leq \frac{2(m(\alpha+2)+\beta(m+\beta))}{(m+\beta)^{2}} z+\frac{(\alpha+1)^{2}+1}{(m+\beta)^{2}} \\
& +\frac{2\left((\alpha+1)\left(1+e^{-(m+1) z}+2 z\right)+2(m+1) z^{2}\right)}{(m+\beta)^{2}(m-1)}:=\Omega_{m}^{\alpha, \beta}(z),
\end{aligned}
$$

$$
\text { (iii) } \begin{aligned}
D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{4} ; z\right) & =\frac{\beta^{4}}{(m+\beta)^{4}} z^{4}+\frac{4(6 m-\alpha-\beta) \beta^{2}}{(m+\beta)^{4}} z^{3} \\
& +\frac{6\left(\beta^{2}(\alpha+1)^{2}+2 m(m-2 \alpha \beta-4 \beta)\right.}{(m+\beta)^{4}} z^{2} \\
& +\frac{4\left(\alpha^{3}+3 \alpha^{2}+12 \alpha+21\right) m-12 \beta(\alpha+1)^{2}}{(m+\beta)^{4}} z \\
& +\frac{(\alpha+1)^{4}+(2 \alpha+5)^{2}+2\left(\alpha^{2}-1\right)}{(m+\beta)^{4}} \\
& +\left[\frac{\left[\left(2\left(\alpha^{2}-6\right)(2 \alpha+6)+12\right)-12\left(\alpha^{2}+2 \alpha-2\right)(m+\beta) z\right.}{(m+\beta)^{4}(m-1)}\right. \\
& +\frac{\left.12(\alpha+1)(m+\beta)^{2} z^{2}-4(m+\beta)^{3} z^{3}\right)\left(1-e^{-(m+1) z}\right)}{(m+\beta)^{4}(m-1)} \\
& +\frac{\left(18(m-7)+6 \alpha\left(m-11-12 \alpha^{2}\right)\right)(m+1) z^{2}}{(m+\beta)^{4}(m-1)} \\
& -\frac{4\left(\left(m^{2}-7 m-23\right)+3 \alpha\right)-3(m-11-4 \alpha)(m+\beta)(m+1) z^{3}}{(m+\beta)^{4}(m-1)} \\
& \left.+\frac{8\left((m+1)^{2}+3(m+\beta)\right)(m+1) z^{4}}{(m+\beta)^{4}(m-1)}\right] \lambda .
\end{aligned}
$$

## 3. Local approximation

Let the space $C[0, \infty)$ denote the all continuous and bounded functions $\mu$ on $[0, \infty)$ and it is equipped with the norm $\|\mu\|_{[0, \infty)}=\sup _{z \in[0, \infty)}|\mu(z)|$. Firstly we define some notations, which will be fundamental of our following theorems. Let the Peetre's $K$-functional is given by

$$
K_{2}(\mu, \eta)=\inf _{\nu \in C^{2}[0, \infty)}\left\{\|\mu-\nu\|+\eta\left\|\nu^{\prime \prime}\right\|\right\},
$$

where $\eta>0$ and $C^{2}[0, \infty)=\left\{\nu \in C[0, \infty): \nu^{\prime}, \nu^{\prime \prime} \in C[0, \infty)\right\}$.
There exists an absolute constant $C>0$ such that (see:( [16]))

$$
\begin{equation*}
K_{2}(\mu ; \eta) \leq C \omega_{2}(\mu ; \sqrt{\eta}), \quad \eta>0, \tag{12}
\end{equation*}
$$

where

$$
\omega_{2}(\mu ; \eta)=\sup _{0<u \leq \eta} \sup _{z \in[0, \infty)}|\mu(z+2 u)-2 \mu(z+u)+\mu(z)|,
$$

is the second order modulus of smoothness of $\mu \in C[0, \infty)$. Further, we denote the ordinary modulus of continuity of $\mu \in C[0, \infty)$ by

$$
\omega(\mu ; \eta):=\sup _{0<u \leq \eta} \sup _{z \in[0, \infty)}|\mu(z+u)-\mu(z)|,
$$

(see details [3]).
With $\operatorname{Lip}_{L}(\zeta)$, we denote an element of Lipschitz type continuous function, where $D>0$ and $0<\zeta \leq 1$. Since the following expression

$$
|\mu(t)-\mu(z)| \leq D|t-z|^{\zeta}, \quad(t, z \in \mathbb{R})
$$

verifies, then a function $\mu$ is belong to $\operatorname{Lip}_{L}(\zeta)$.
Theorem 3.1. Let $z \in[0, \infty), \mu \in \operatorname{Lip}_{L}(\zeta)$ and $\lambda \in[-1,1]$. Then,

$$
\left|D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z)\right| \leq D\left(\Omega_{m}^{\alpha, \beta}(z)\right)^{\frac{\zeta}{2}}
$$

where $\Omega_{m}^{\alpha, \beta}(z)$ is defined in Lemma 2.5.
Proof. By using the linearity and monotonicity properties of the operators (6), it deduce following

$$
\begin{aligned}
\left|D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z)\right| & \leq D_{m, \lambda}^{\alpha, \beta}(|\mu(t)-\mu(z)| ; z) \\
& \leq m \sum_{j=0}^{\infty} \widetilde{s}_{m, j}(\lambda ; z) \int_{0}^{\infty} s_{m, j}(t)|\mu(t)-\mu(z)| d t \\
& \leq D m \sum_{j=0}^{\infty} \widetilde{s}_{m, j}(\lambda ; z) \int_{0}^{\infty} s_{m, j}(t)|t-z|^{\zeta} d t
\end{aligned}
$$

Using the Hölder's inequality with $p_{1}=\frac{2}{\zeta}$ and $p_{2}=\frac{2}{2-\zeta}$ and taking Lemma 2.4-2.5 into account, therefore

$$
\begin{aligned}
\left|D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z)\right| & \leq D\left\{m \sum_{j=0}^{\infty} \widetilde{s}_{m, j}(\lambda ; z) \int_{0}^{\infty} s_{m, j}(t)(t-z)^{2} d t\right\}^{\frac{\zeta}{2}} \\
& \cdot\left\{m \sum_{j=0}^{\infty} \widetilde{s}_{m, j}(\lambda ; z) \int_{0}^{\infty} s_{m, j}(t)\right\}^{\frac{2-\zeta}{2}} \\
& =D\left\{D_{m, \lambda}^{\alpha, \beta}\left(\left(e_{1}-z\right)^{2} ; z\right)\right\}^{\frac{\zeta}{2}}\left\{D_{m, \lambda}^{\alpha, \beta}\left(e_{0} ; z\right)\right\}^{\frac{2-\zeta}{2}} \\
& \leq D\left(\Omega_{m}^{\alpha, \beta}(z)\right)^{\frac{\zeta}{2}} .
\end{aligned}
$$

Hence, we get the desired proof.
Theorem 3.2. Let $z \in[0, \infty), \mu \in \operatorname{Lip}_{L}(\zeta)$ and $\lambda \in[-1,1]$. Then for a constant $C>0$ the following relation holds true

$$
\left|D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z)\right| \leq C \omega_{2}\left(\mu ; \frac{1}{2} \sqrt{\Omega_{m}^{\alpha, \beta}(z)+\left(\Phi_{m}^{\alpha, \beta}(z)\right)^{2}}+\omega\left(\mu ; \Phi_{m}^{\alpha, \beta}(z)\right)\right.
$$

where $\Phi_{m}^{\alpha, \beta}(z), \Omega_{m}^{\alpha, \beta}(z)$ are same as in Lemma 2.5.
Proof. Let $\mu \in C[0, \infty)$ and we denote with $\phi_{m, \lambda}^{\alpha, \beta}(z):=\frac{m}{m+\beta} z+\frac{\alpha+1}{m+\beta}+\left[\frac{1-e^{-(m+1) z}-2 z}{m+\beta(m-1)}\right] \lambda$. It is clear that $\phi_{m, \lambda}^{\alpha, \beta}(z) \in[0, \infty)$ for sufficently large $m$. Now, we give the following auxiliary operators:

$$
\begin{equation*}
\widetilde{D}_{m, \lambda}^{\alpha, \beta}(\mu ; z)=D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu\left(\phi_{m, \lambda}^{\alpha, \beta}(z)\right)+\mu(z) \tag{13}
\end{equation*}
$$

Note that, by (7) and (8), it follows

$$
\widetilde{D}_{m, \lambda}^{\alpha, \beta}(t-z ; z)=0
$$

In view of Taylor's expansion formula, hence

$$
\begin{equation*}
\sigma(t)=\sigma(z)+(t-z) \sigma^{\prime}(z)+\int_{z}^{t}(t-u) \sigma^{\prime \prime}(u) d u, \quad\left(\sigma \in C^{2}[0, \infty)\right) \tag{14}
\end{equation*}
$$

Operating $\widetilde{D}_{m, \lambda}^{\alpha, \beta}(. ; z)$ on (14), we get

$$
\begin{aligned}
\widetilde{D}_{m, \lambda}^{\alpha, \beta}(\sigma ; z)-\sigma(z)= & \widetilde{D}_{m, \lambda}^{\alpha, \beta}\left((t-z) \sigma^{\prime}(z) ; z\right)+\widetilde{D}_{m, \lambda}^{\alpha, \beta}\left(\int_{z}^{t}(t-u) \sigma^{\prime \prime}(u) d u ; z\right) \\
= & \sigma^{\prime}(z) \widetilde{D}_{m, \lambda}^{\alpha, \beta}(t-z ; z)+D_{m, \lambda}^{\alpha, \beta}\left(\int_{z}^{t}(t-u) \sigma^{\prime \prime}(u) d u ; z\right) \\
& -\int_{z}^{\phi_{m, \lambda}^{\alpha, \beta}(z)}\left(\phi_{m, \lambda}^{\alpha, \beta}(z)-u\right) \sigma^{\prime \prime}(u) d u \\
& =D_{m, \lambda}^{\alpha, \beta}\left(\int_{z}^{t}(t-u) \sigma^{\prime \prime}(u) d u ; z\right)-\int_{z}^{\phi_{m, \lambda}^{\alpha, \beta}(z)}\left(\phi_{m, \lambda}^{\alpha, \beta}(z)-u\right) \sigma^{\prime \prime}(u) d u .
\end{aligned}
$$

From Lemma 2.4 and (13), we obtain

$$
\begin{aligned}
\left|\widetilde{D}_{m, \lambda}^{\alpha, \beta}(\sigma ; z)-\sigma(z)\right| & \leq\left|D_{m, \lambda}^{\alpha, \beta}\left(\int_{z}^{t}(t-u) \sigma^{\prime \prime}(u) d u ; z\right)\right|+\left|\int_{z}^{\phi_{m, \lambda}^{\alpha, \beta}(z)}\left(\phi_{m, \lambda}^{\alpha, \beta}(z)-u\right) \sigma^{\prime \prime}(u) d u\right| \\
& \leq D_{m, \lambda}^{\alpha, \beta}\left(\int_{z}^{t}(t-u)\left|\sigma^{\prime \prime}(u)\right| d u ; z\right)+\int_{z}^{\left.\phi_{m, \lambda}^{\alpha, \beta}(z)\right)}\left(\phi_{m, \lambda}^{\alpha, \beta}(z)-u\right)\left|\sigma^{\prime \prime}(u)\right| d u \\
& \leq\left\|\sigma^{\prime \prime}\right\|\left\{D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{2} ; z\right)+\left(\phi_{m, \lambda}^{\alpha, \beta}(z)-z\right)^{2}\right\} \\
& \leq\left\{\Omega_{m}^{\alpha, \beta}(z)+\left(\Phi_{m}^{\alpha, \beta}(z)\right)^{2}\right\}\left\|\sigma^{\prime \prime}\right\| .
\end{aligned}
$$

On the other hand, taking (7), (8) and (13) into account, one has

$$
\begin{align*}
\left|\widetilde{D}_{m, \lambda}^{\alpha, \beta}(\mu ; z)\right| & \leq\left|D_{m, \lambda}^{\alpha, \beta}(\mu ; z)\right|+2\|\mu\| \\
& \leq\|\mu\| D_{m, \lambda}^{\alpha, \beta}(1 ; z)+2\|\mu\| \leq 3\|\mu\| . \tag{15}
\end{align*}
$$

Further, with (14) and (15), we get

$$
\begin{aligned}
\left|D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z)\right| & \leq\left|\widetilde{D}_{m, \lambda}^{\alpha, \beta}(\mu-\sigma ; z)-(\mu-\sigma)(z)\right|+\left|\widetilde{D}_{m, \lambda}^{\alpha, \beta}(\sigma ; z)-\sigma(z)\right| \\
& +\left|\mu(z)-\mu\left(\phi_{m, \lambda}^{\alpha, \beta}(z)\right)\right| \\
& \leq 4\|\mu-\sigma\|+\left\{\Omega_{m}^{\alpha, \beta}(z)+\left(\Phi_{m}^{\alpha, \beta}(z)\right)^{2}\right\}\left\|\sigma^{\prime \prime}\right\|+\omega\left(\mu ; \Phi_{m}^{\alpha, \beta}(z)\right) .
\end{aligned}
$$

If we take infimum on the right hand side over all $\sigma \in C^{2}[0, \infty)$ and by (12), so one can get following easily

$$
\begin{aligned}
\left|D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z)\right| & \leq 4 K_{2}\left(\mu ; \frac{\left\{\Omega_{m}^{\alpha, \beta}(z)+\left(\Phi_{m}^{\alpha, \beta}(z)\right)^{2}\right\}}{4}\right)+\omega\left(\mu ; \Phi_{m}^{\alpha, \beta}(z)\right) \\
& \leq C \omega_{2}\left(\mu ; \frac{1}{2} \sqrt{\Omega_{m}^{\alpha, \beta}(z)+\left(\Phi_{m}^{\alpha, \beta}(z)\right)^{2}}\right)+\omega\left(\mu ; \Phi_{m}^{\alpha, \beta}(z)\right)
\end{aligned}
$$

Thus, we arrive at the desired result.

## 4. Weighted approximation

In this section, we prove a result concerning the weighted approximation for the operators $D_{m, \lambda}^{\alpha, \beta}$. Let $B_{z^{2}}[0, \infty)$ be the set of all functions $h$ satisfying the condition $|h(z)| \leq M_{h}\left(1+z^{2}\right), z \in[0, \infty)$ with constant $M_{h}$, which depend only on $h$. We denote by $C_{z^{2}}[0, \infty)$ the set of all continuous functions belonging to $B_{z^{2}}[0, \infty)$ endowed with the norm $\|h\|_{z^{2}}=\sup _{z \in[0, \infty)} \frac{|h(z)|}{1+z^{2}}$ and $C_{z^{2}}^{*}[0, \infty):=\left\{h: h \in C_{z^{2}}[0, \infty), \lim _{y \rightarrow \infty} \frac{|h(z)|}{1+z^{2}}<\infty\right\}$.

Theorem 4.1. For all $\mu \in C_{z^{2}}^{*}[0, \infty)$, we obtain

$$
\lim _{m \rightarrow \infty} \sup _{z \in[0, \infty)} \frac{\left|D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z)\right|}{1+z^{2}}=0
$$

Proof. Using the Korovkin type theorem given by Gadzhiev [18], we have to show that operators (6) verify the following condition:

$$
\begin{equation*}
\lim _{m \rightarrow \infty} \sup _{z \in[0, \infty)} \frac{\left|D_{m, \lambda}^{\alpha, \beta}\left(t^{s} ; z\right)-z^{s}\right|}{1+z^{2}}=0, \quad s=0,1,2 \tag{16}
\end{equation*}
$$

From (7), the first condition in (16) is clear for $s=0$.
For $s=1$, by (8), we find

$$
\begin{aligned}
\sup _{z \in[0, \infty)} \frac{\left|D_{m, \lambda}^{\alpha, \beta}\left(e_{1} ; z\right)-z\right|}{1+z^{2}} & \leq\left|\frac{(m-1)(\alpha+1)+\lambda}{(m+\beta)(m-1)}\right| \sup _{z \in[0, \infty)} \frac{1}{1+z^{2}} \\
& +\left|\frac{(m-1) \beta+3 \lambda}{(m+\beta)(m-1)}\right| \sup _{z \in[0, \infty)} \frac{z}{1+z^{2}},
\end{aligned}
$$

which gives

$$
\lim _{m \rightarrow \infty} \sup _{z \in[0, \infty)} \frac{\left|D_{m, \lambda}^{\alpha, \beta}\left(e_{1} ; z\right)-z\right|}{1+z^{2}}=0
$$

Also for $s=2$, from (9), we get

$$
\begin{aligned}
& \sup _{z \in[0, \infty)} \frac{\left|D_{m, \lambda}^{\alpha, \beta}\left(e_{2} ; z\right)-z^{2}\right|}{1+z^{2}} \leq\left|\frac{\left((\alpha+1)^{2}+1\right)(m-1)+2(\alpha+1) \lambda}{(m+\beta)^{2}(m-1)}\right| \sup _{z \in[0, \infty)} \frac{1}{1+z^{2}} \\
& +\left|\frac{2 m(\alpha+2)(m-1)-6(\alpha+1) \lambda)}{(m+\beta)^{2}(m-1)}\right|_{z \in[0, \infty)} \frac{z}{1+z^{2}} \\
& +\left\lvert\, \frac{\beta(2 m+\beta)(m-1)+4(m+1) \lambda}{(m+\beta)^{2}(m-1)} \sup _{z \in[0, \infty)} \frac{z^{2}}{1+z^{2}} .\right.
\end{aligned}
$$

Hence, we get

$$
\lim _{m \rightarrow \infty} \sup _{z \in[0, \infty)} \frac{\left|D_{m, \lambda}^{\alpha, \beta}\left(e_{2} ; z\right)-z^{2}\right|}{1+z^{2}}=0
$$

This completes the proof.

## 5. Voronovskaya type asymptotic theorem

In this section, we will consider Voronovskaja type asymptotic theorem. Before presenting our main theorem, let us give the following lemma, the results of which we will use.

Lemma 5.1. Let $z \in[0, \infty)$ and $\lambda \in[-1,1]$. Then, we arrive at the following expressions:

$$
\text { (i) } \lim _{m \rightarrow \infty} m D_{m, \lambda}^{\alpha, \beta}(t-z ; z)=\alpha+1 \text {, }
$$

(ii) $\lim _{m \rightarrow \infty} m D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{2} ; z\right)=2(\alpha+2+\beta) z$,
(iii) $\lim _{m \rightarrow \infty} m^{2} D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{4} ; z\right)=2 z^{2}$.

THEOREM 5.2. Let $\mu \in C_{z^{2}}^{*}[0, \infty)$ such that $\mu^{\prime}, \mu^{\prime \prime} \in C_{z^{2}}^{*}[0, \infty)$ and $\lambda \in[-1,1]$, then we obtain for any $z \in[0, \infty)$ the following identity

$$
\lim _{m \rightarrow \infty} m\left[D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z)\right]=(\alpha+1) \mu^{\prime}(z)+(\alpha+2+\beta) z \mu^{\prime \prime}(z) .
$$

Proof. In view of Taylor's expansion formula, thus

$$
\begin{equation*}
\mu(t)=\mu(z)+(t-z) \mu^{\prime}(z)+\frac{1}{2}(t-z)^{2} \mu^{\prime \prime}(z)+(t-z)^{2} \chi(t ; z), \tag{17}
\end{equation*}
$$

where $\chi(t ; z)$ is a Peano of the rest term and for $\chi(. ; z) \in C[0, \infty)$, we get $\lim _{t \rightarrow z} \chi(t ; z)=$ 0 . Operating $D_{m, \lambda}^{\alpha, \beta}(. ; z)$ on (17), we have

$$
\begin{aligned}
D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z) & =D_{m, \lambda}^{\alpha, \beta}((t-z) ; z) \mu^{\prime}(z)+\frac{1}{2} D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{2} ; z\right) \mu^{\prime \prime}(z) \\
& +D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{2} \chi(t ; z) ; z\right) .
\end{aligned}
$$

Taking the limit of the both sides of above identity as $m \rightarrow \infty$, it follows

$$
\begin{equation*}
\lim _{m \rightarrow \infty} m\left(D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z)=\lim _{m \rightarrow \infty} m\left(D_{m, \lambda}^{\alpha, \beta}((t-z) ; z) \mu^{\prime}(z)+\frac{1}{2} D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{2} ; z\right) \mu^{\prime \prime}(z)\right.\right. \tag{18}
\end{equation*}
$$

$$
\left.+D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{2} \chi(t ; z) ; z\right)\right)
$$

Applying the Cauchy-Bunyakovsky-Schwarz inequality to the last term on the right hand side of the equation (18), thus

$$
\lim _{m \rightarrow \infty} m D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{2} \chi(t ; z) ; z\right) \leq \sqrt{\lim _{m \rightarrow \infty} D_{m, \lambda}^{\alpha, \beta}\left(\chi^{2}(t ; z) ; z\right)} \sqrt{\lim _{m \rightarrow \infty} m^{2} D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{4} ; z\right)} .
$$

We observe that $\chi^{2}(z ; z)=0$ and $\chi^{2}(t ; z) \in C_{z^{2}}[0, \infty)$. Hence

$$
\begin{equation*}
\lim _{m \rightarrow \infty} D_{m, \lambda}^{\alpha, \beta}\left(\chi^{2}(t ; z) ; z\right)=\chi^{2}(z ; z)=0, \tag{19}
\end{equation*}
$$

uniformly with respect to $z \in[0, A]$, where $A>0$. If we combine (18)-(19) and by Lemma 5.1 (iii), one has

$$
\lim _{m \rightarrow \infty} m D_{m, \lambda}^{\alpha, \beta}\left((t-z)^{2} \chi(t ; z) ; z\right)=0 .
$$

Hence, we arrive at the following result

$$
\lim _{m \rightarrow \infty} m\left[D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z)\right]=(\alpha+1) \mu^{\prime}(z)+(\alpha+2+\beta) z \mu^{\prime \prime}(z) .
$$

## 6. Graphical representation

In this section, we present the convergence of operators (6) to the certain functions with the different values of $m, \alpha, \beta$ and $\lambda$.

In Figure 1, we consider the function $\mu(z)=(z-1 / 5) e^{-2 z}$ to observe the convergence of the proposed operators for the values $\alpha=0, \beta=0.5, \lambda=1, m=$ 10 (red), 20 (green), 50 (blue), respectively.

In Figure 2, we consider the function $\mu(z)=(z-1 / 5) e^{-2 z}$ and we denote the error functions with $E_{m, \lambda}^{\alpha, \beta}(\mu ; z)=\left|D_{m, \lambda}^{\alpha, \beta}(\mu ; z)-\mu(z)\right|$. We choose $\alpha=0.5, \beta=2$ and $\lambda=1$ and illustrate the error of approximation process of operators (6) to $\mu(z)$ for $m=25$ (red), 50 (green), 125 (blue), respectively.

In Figure 3, we consider the trigonometric function $\mu(z)=\sin (\pi z)$. We compare the convergence of operators (6) to the function $\mu(z)$ (black) for $m=10$, $\lambda=1$ (red), 0 (green), -1 (blue), respectively.

One can check from Figure 1 that, as the values of $m$ increases than the convergence of operators (6) to a function $\mu(z)$ is getting better. Moreover, in Figure 2 we show its error of approximation process for $m=25,50,125$. We can see by Figure 3 that, in case $\lambda>0$ operators (6) provides better approximation than in cases $\lambda=0$ and $\lambda=-1$. Note that, the parameters $\alpha, \beta$ and $\lambda$ give us more flexibility in modeling.


Figure 1. The convergence of operators $D_{m, 1}^{0,0.5}(\mu ; z)$ to $\mu(z)=(z-1 / 5) e^{-2 z}$


Figure 2. The error of approximation process of $D_{m, 1}^{0.5,2}(\mu ; z)$ to $\mu(z)=$ $(z-1 / 5) e^{-2 z}$

## References

[1] A. M. Acu, N. Manav and D. F. Sofonea, Approximation properties of $\lambda$-Kantorovich operators, J. Inequal. Appl., 2018 (2018), 202.
[2] A. Alotaibi, F. Özger, S. A. Mohiuddine and M. A. Alghamdi, Approximation of functions by a class of Durrmeyer-Stancu type operators which includes Euler's beta function, Adv. Differ. Equ., 2021 (2021), 1-14.
[3] F. Altomare and M. Campiti, Korovkin-type approximation theory and its applications, 17, Walter de Gruyter, 2011.


Figure 3. The convergence of operators $D_{10, \lambda}^{0,0.2}(\mu ; z)$ to $\mu(z)=\sin (\pi z)$
[4] K. J. Ansari, F. Özger and Z. Ödemiş Özger, Numerical and theoretical approximation results for Schurer-Stancu operators with shape parameter lambda, Comp. Appl. Math., 41 (2022), 1-18.
[5] R. Aslan, Some approximation results on $\lambda$-Szasz-Mirakjan-Kantorovich operators, FUJMA, 4 (2021), 150-158.
[6] R. Aslan, Approximation by Szász-Mirakjan-Durrmeyer operators based on shape parameter $\lambda$, Commun. Fac. Sci. Univ. Ank. Ser. A1 Math. Stat., 71 (2022), pp, 407-421.
[7] M. Ayman Mursaleen, A. Kilicman and Md. Nasiruzzaman, Approximation by q-Bernstein-Stancu-Kantorovich operators with shifted knots of real parameters, Filomat, 36(4) (2022), 11791194.
[8] M. Ayman Mursaleen and S. Serra-Capizzano, Statistical convergence via q-calculus and a korovkin's type Approximation theorem, Axioms, 11 (2022), 70.
[9] Q. B. Cai, K. J. Ansari, M. Temizer Ersoy and F. Özger, Statistical blending-type approximation by a class of operators that includes shape parameters $\lambda$ and $\alpha$, Mathematics, 10(7) (2022), 1149.
[10] Q. B. Cai and R. Aslan, On a new construction of generalized $q$-Bernstein polynomials based on shape parameter $\lambda$, Symmetry, 13 (2021), 1919.
[11] Q. B. Cai and R. Aslan, Note on a new construction of Kantorovich form q-Bernstein operators related to shape parameter $\lambda$, Computer Modeling in Engineering \& Sciences, 130 (2022), 14791493.
[12] Q. B. Cai and W. T. Cheng, Convergence of $\lambda$-Bernstein operators based on $(p, q)$-integers, J. Inequal. Appl., 2020 (2020), 35.
[13] Q. B. Cai, A. Kilicman and M. Ayman Mursaleen, Approximation Properties and q-Statistical Convergence of Stancu-Type Generalized Baskakov-Szász Operators, J. Funct. Spaces, 2022 (2022).
[14] Q. B. Cai, B. Y. Lian and G. Zhou, Approximation properties of $\lambda$-Bernstein operators, J. Inequal. Appl., 2018 (2018), 61.
[15] Q. B. Cai, G. Zhou and J. Li, Statistical approximation properties of $\lambda$-Bernstein operators based on $q$-integers, Open Math., 17 (2019), 487-498.
[16] R. A. DeVore and G. G. Lorentz, Constructive Approximation, Springer, Heidelberg, 1993.
[17] G. Farin, Curves and surfaces for computer-aided geometric design: a practical guide, Elsevier, 2014.
[18] A. D. Gadzhiev, The convergence problem for a sequence of positive linear operators on unbounded sets and theorems analogous to that of P.P. Korovkin, Dokl. Akad. Nauk., 218 (1974), 1001-1004.
[19] V. Gupta, Simultaneous approximation by Szász-Durrmeyer operators, Math. Stud., 64 (1995), 27-36.
[20] M. K. Gupta, M. S. Beniwal and P. Goel, Rate of convergence for Szász-Mirakyan-Durrmeyer operators with derivatives of bounded variation, Appl. Math. comput., 199 (2008), 828-832.
[21] V. Gupta, M. A. Noor and M. S. Beniwal, Rate of convergence in simultaneous approximation for Szász-Mirakyan-Durrmeyer operators, J. Math. Anal. Appl., 322 (2006), 964-970.
[22] K. Khan, D. K. Lobiyal and A. Kilicman, Bézier curves and surfaces based on modified Bernstein polynomials, Azerb. J. Math., 9 (2019), 3-21.
[23] P. P. Korovkin, On convergence of linear positive operators in the space of continuous functions, Dokl. Akad. Nauk SSSR, 90 (1953), 961-964.
[24] A. Kumar, Approximation properties of generalized $\lambda$-Bernstein-Kantorovich type operators, Rend. Circ. Mat. Palermo (2), 70 (2020), 505-520.
[25] S. Mazhar and V. Totik, Approximation by modified Szász operators, Acta Sci. Math., 49 (1985), 257-269.
[26] G. M. Mirakjan, Approximation of continuous functions with the aid of polynomials, In Dokl. Acad. Nauk SSSR, 31 (1941), 201-205.
[27] V. N. Mishra and R. B. Gandhi, A summation-integral type modification of Szász-Mirakjan operators, Math. Methods Appl. Sci., 40 (2017), 175-182.
[28] V. N. Mishra, R. B. Gandhi and R. N. Mohapatra, A summation-integral type modification of Szasz-Mirakjan-Stancu operators, J. Numer. Anal. Approx. Theory, 45 (2016), 27-36.
[29] V. N. Mishra, R. B. Gandhi and F. Nasaireh, Simultaneous approximation by Szász-Mirakjan-Durrmeyer-type operators, Bollettino dell'Unione Matematica Italiana, 8 (2016), 297-305.
[30] M. Mursaleen, A. A. H. Al-Abied and M. A. Salman, Chlodowsky type ( $\lambda, q$ )-Bernstein-Stancu operators, Azerb. J. Math., 10 (2020), 75-101.
[31] M. Mursaleen, A. Alotaibi and K. J. Ansari, On a Kantorovich variant of-Szász-Mirakjan operators, J. Funct. Spaces, 2016 (2016).
[32] H. Oruç and G. M. Phillips, q-Bernstein polynomials and Bézier curves, J. Comput. Appl. Math., 151 (2003), 1-12.
[33] F. Özger, Weighted statistical approximation properties of univariate and bivariate $\lambda$ Kantorovich operators, Filomat, 33 (2019), 3473-3486.
[34] F. Özger, Applications of generalized weighted statistical convergence to approximation theorems for functions of one and two variables, Numer. Funct. Anal. Optim., 41 (2020), 1990-2006.
[35] F. Özger, On new Bézier bases with Schurer polynomials and corresponding results in approximation theory, Commun. Fac. Sci. Univ. Ank. Ser. A1 Math. Stat., 69 (2020), 376-393.
[36] F. Özger, E. Aljimi and M. Temizer Ersoy, Rate of weighted statistical convergence for generalized blending-type Bernstein-Kantorovich operators, Mathematics, 10(12) (2022), 2027.
[37] F. Özger, K. Demirci and S. Yıldız, Approximation by Kantorovich variant of $\lambda$-Schurer operators and related numerical results, In: Topics in Contemporary Mathematical Analysis and Applications, pp. 77-94, CRC Press, Boca Raton, 2020.
[38] Q. Qi, D. Guo and G. Yang, Approximation properties of $\lambda$-Szász-Mirakian operators, Int. J. Eng. Res., 12 (2019), 662-669.
[39] S. Rahman, M. Mursaleen and A. M. Acu, Approximation properties of $\lambda$-Bernstein- Kantorovich operators with shifted knots, Math. Meth. Appl. Sci., 42 (2019), 4042-4053.
[40] T. W. Sederberg, Computer Aided Geometric Design Course Notes, Department of Computer Science Brigham Young University, October 9, 2014.
[41] H. M. Srivastava, K. J. Ansari, F. Özger and Z. Ödemiş Özger, A link between approximation theory and summability methods via four-dimensional infinite matrices, Mathematics, 9 (2021), 1895.
[42] H. M. Srivastava, F. Özger and S. A. Mohiuddine, Construction of Stancu-type Bernstein operators based on Bézier bases with shape parameter $\lambda$, Symmetry, 11 (2019), 316.
[43] D. D. Stancu, Asupra unei generalizari a polinoamelor lui Bernstein, Studia Univ. Babes-Bolyai Ser. Math.-Phys., 14 (1969), 31-45.
[44] O. Szász, Generalization of the Bernstein polynomials to the infinite interval, J. Res. Nat. Bur. Stand., 45 (1950) 239-245.
[45] Z. Ye, X. Long and X. M. Zeng, Adjustment algorithms for Bézier curve and surface, In: International Conference on Computer Science and Education, pp, 1712-1716, 2010.

## Reşat Aslan

Faculty of Sciences and Arts, Harran University,
Şanliurfa 63300, Turkey
E-mail: resat63@hotmail.com

## Laxmi Rathour

Ward Number 16, Bhagatbandh, Anuppur 484 224,
Madhya Pradesh, India
E-mail: laxmirathour817@gmail.com


[^0]:    Received August 11, 2022. Revised September 20, 2022. Accepted September 20, 2022.
    2010 Mathematics Subject Classification: 41A25, 41A35, 41A36.
    Key words and phrases: Lipschitz-type class, Szász-Mirakjan-Durrmeyer operators, Weighted approximation, Peetre's $K$-functional, Voronovskaya type asymptotic theorem.

    * Corresponding author.
    (C) The Kangwon-Kyungki Mathematical Society, 2022.

    This is an Open Access article distributed under the terms of the Creative commons Attribution Non-Commercial License (http://creativecommons.org/licenses/by-nc/3.0/) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

